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@D ax*+8ax+ 16a

® 3xy—12xy+12y

® 4x*y + 24xy + 36y

@ (x+4)*+7(x+4)+10

@ xy+2x—(y+2)

ROXZLRLTEELZ S,

@®© 55?45

16x*+ 40xy + 25)°

2ax*— 20ax + 50a

xy+2x+3(y+2)

Ox® — 24xy + 16y*

(x+5)2+2(x+5) —8

90° — 80?
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KROKX % HEGEL % S

@D ax*+8ax+ 16a
=a(x*+8x+16)
=a(x+4)?

® 3xy—12xy+12y
=3y(x*—4x+4)
=3y(x—2)*

® 4x*y + 24xy + 36y
=4y (x*+6x+9)
=4y (x+3)*

@ (x+4)*+7(x+4) +10
={(x+4)+5}{(x+4)+2}

=(x+9) (x+6)

@ xy+2x—(y+2)
=x(y+2) - (y+2)

=(x-1)(+2)

ROXZLRLTEELZ S,

@ 552— 45
= (55+45) (55— 45)
=100% 10
=1000
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@ 16x*+40xy + 25y
= (4x)%+ 2 x5y X 4x + (5y)?
= (4x+5y)?

@ 2ax®*—20ax+50a
=2a(x*—10x + 25)
=2a(x—5)*?

® xy+2x+3(y+2)
=x(y+2)+3(@+2)

=(x+3)(y+2)

Ox®— 24xy + 16y*
= (3x)?—2%x4yx 3x+ (4y)*
= (3x—4y)*

(x+5)2+2(x+5) —8
={(x+5)—-2}1{(x+5)+4/|
= (x+3) (x+9)

@ 90— 80
= (90 +80) (90— 80)
=170%10
=1700
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